mean # PXL hits vs eta

<pixel hits> [

Ratio

.
II|IIII|II

=
a1
7

0.5

w
T

...................................................................

................................................

.......................

1.1+

s

0.9

mean # PXL Layers with measurement vs eta

<pixel layers> [

Ratio

N
o

=
o

0.5

Q-

LA

N

<strip hits> [

Ratio

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt
—+— DQM fit nocpe 1000evt

18
16
14
120

N iy (@)) )
T T T T[T

................

A

0.95

<strip layers>

Ratio

ok

0.955




	Contents
	Page 1


